QUESTION BANK

BASIC CHEMISTRY (3300011) / SEM-1

OBJECTIVE QUESTIONS
°R QUESTION BTL | CO
NO.
Which of the following contains intra molecular hydrogen bonding
AL Cl2 B. NaCl
C. O-chlrophenol D. P-chlrophenol
1 lAstiiHiell sl Mict: 2uecflay ol wRpd 8. U 1
AL Clz B. NaCl
C ] o-scARBeAA D po sl
Which of the following contains ionic bonding
A Cl» B. NaCl
C. CH4 D. SOs
2 ol Aetl Hi2ll sl 2=lASs oy uAA B. uill
A Cla B. NaCl
C. CHy4 D. SO3
Crystal lattice arrangement of Al is type.
A. FCC B. BCC
C. HCP D. None of the above
3 Al oll 3gRsHal uHIgjell sl usie(l sla B. R 1
A FCC B. BCC
C. |HCP D Qe [@sedl diell 3s uat o2l
A substance that activates a slow acting catalyst is called
A Positive catalyst B. an initiator
C. catalytic poison D. promoter
4 % Welel A s12l scll GElusell USlaAUHL AR 52 A sd&cllal B. R 1
A | uet GElus B | wizesl
C | Gllus @w D. | G&lus-Ga=xs
Which of the following is the example of non-polar covalent bond
A. HCl1 B. Cl>
C. NHs D. HF
5 ollAotl Hiell myclar Mg xs ciug] GelEWL 2l R{1
A. HCl1 B. Clz
C. NH; D. HF
In thle 1nai'1ufacture of H>SO4 in contact i)rocesls, As203 acts as
A Promoter B. Negative catalyst
C. Catalytic poison D. auto-catalyst
6 H,S0, ol atettae 2l U3 AR As,O, Ay sl s B R 1
A | GElus-GAws B. Rl GElus
| € | GElus @ D. | 2c2l Gélus
The substance change the rate of chemical reaction is called
AL Catalogue B. Catalysis
C. Chromophore D. Catalyst
7 @ UELA o p:M2@s ulsaal 1l 2512 53l asta A Ueldlal sdallal. R 1
A | Beclal B. | Gdluat
S ER D.

Gelus




Which of the following is the example of network solid?

A. Diamond B. P4
C. Sg D. None of the above
8 o(lAatl Hiell onuflelr ot UELN] GELERBL R,
A @A B. P4
C. |Ss D. | 20t [@scdl diell As ual o2l
The catalyst which retards the rate of chemical reaction is know as
A. | auto-catalyst B. | negative catalyst
C. | catalytic poison D. | promoter
9 || Gelus AWAlls ylsaulotl Aol walsl s2 A secl B.
Ao | a2l Gélus B. | il Gélus
C. | Gelus (Aw D. | Gelus-Gaxs
pH of acidic solution is
A, | =7 B. <7
C. |=7 D. | None of the above
10
AREs ataatell pH
A =7 B. <7
C. |=7 D. | None of the above
The solution which resist change in pH by addition of small amount of acid or base is
Called
A Indicator solution B. Buffer solution
C. Reagent solution D. None of the above
11 || ¥ steet &lst vl VRS wacl Ash GARAL 89cll pH Hi %12 A
o2l Alal alasiel sd&cllal.
Ao YuUs alael B. | ag: galasl
C. |l ulBas alaat D. | Qe @scll di2ll As uel o2l
The standard electrode potential of hydrlogcn electrode is
A. | Ovolt B. 1 volt
C. 2 volt D. None of the above
12 | | yri@ld slssdlosat gYaell uHlBld W2kaud o Heu
A. | Ovolt B. 1 volt
C. | 2volt D. et @scdl wigll As ual «12ll
Value of ionization constant of water (Kw) at 25" C is
A& | o™ B. | 107
C. |14 D. |10}
131 | wellett 2u@ets Adctot |ANLS (Kw) of HeL U A sl .
A, | Y B. 10”7
C. |14 13; 107!
The degree of ionization of a substance is depends upon
AL Size of solute molecules B. Nature of solute molecules
C. Nature of vessel used D. Quantity of electricity passed
Ueldell aualas2al i GUR BUUR AW B,
14 A | glealell W] SE B. | atasei el usl@
C. | Guallol Aaldd ataate(l D. |y saiul 2uddl @Qydualsstl

usla

el




If zinc is coated on base metal surface is called

AL Tinning B. Galwvanizing
C. Gold platting D. Chrome platting
HOU Yol elAlel M2 doll GUR el (A us ualacusl
15 ulsaual sdaua
A dlelloL B. | SlcAesussoflol
C. | oslles w@dloL D. | Sl w@dlol
100 ppm = degree clark.
A. | 0.07 " clark B. | 7 clark
C. 14.3 " clark D. | None of the above
16 | | 100 ppm = Sl sk
A 10,07 ° scu3 B. 177 sauk
Co 143 scs D. | et @Qsedl Higll As el o1l
Molecular weight of CaCl, is gm.
A, | 111 B. 120
C. |95 D. 100
171 | cacl, Al mgieu? UM B.
A. | 111 B. 120
C 95 D. 100
—— —————
indicator is used in water hardness measurement.
A. | EDTA B. | Methyl Orange
C. | Erio chrome Black- T D. | Phenolphthalein
18 | | Wellell sEetctott HiustHi YUS AU B,
A. | EDTA B | Rausat 2Ry
Watfl:r which does not produce good lathler witi‘1 soap readily but produce curdy
Precipitates is termed as
A Soft water B. Hard water
C. Acid water D. Moderate hard water
19 % WRll ALY A AR & UL Slal Gaust 52 otell U €8l Ral Mallu
Gauel 532 a well
A | et well B. | 5@t wgll
C. | AaARs wel D. |y sBet well
The phenomenon of becoming boiler material brittle due to accumulation of caustic
Substance in water is called
A Scale formation B. Sludge formation
C. Caustic embrittlement D. Foaming
20 2 deottHl WRHL 2uescllel Hinu audl clscRell tlged &itrel L da 9]
sdalal ?
A o3l cuosell B. | slaude] Geaua aq
C. | 51R8ls srollecdnoe D. | flol Geua aq
Whi(I:h solution is used to regenerate aciélic reslin in ion exchange process?
A Bromine solution B. 10 % NacCl solution
C. NaOH solution D. HCI solution
Aot [ARAH2 wealdr s2f ataet AARs 2Botal Yetw(@Qd sal 12 auzuna
21 N
A olAet alarL B. 10 % NaCl alalil
D.

C. | NaOH alagL

HC1 slclat




1 1
The process of wet steam formation due to rapid boiling of water in boiler is known as

A Scaling B. Sludge formation
C. Priming D. Foaming
22 AR HL Wl ssuell Gsa wal ello(l arin Geua alal Aal 2] s&aual 2
A o3 cuosell B. | slande] Gaud aqg
C. | Yoxo orsu otetcll D. ol Geua ad
Temlporary hardness in water is caused I:I)y I
A. | NaCl B. MgCl2
C. KCl D. None of the above
23 wellell aldls sdotcl olAeuniell sau e el 82
A. | NaCl B. MgCl2
C. | Kl D | et @scdl diell As uet o2l
As dilution of aqueous solution increase, the degree of ionization
Al Increases B. decreases
C. remains constant D. None of above
24 || BH wcla alagiell HEA Al A MRS viele] Ye 8
A lal B w2
Co | mumn 28 D. | 20 @scedl wiell As uel =2l
Exhausted Zeolite is regenerated by paséiug I
A. | NaOH B. Brine solution
C. | H.O D. | HCl
25 of aladil UAR 53 wals a1Ac Alalctiseal Yot A sallHl H1A B.
A. | NaOH B. | opugset Alcyatat
C. H->O D. HC1
Permanent hardness in water is caused by
A. | NaCl B. KCl
C. | CaClz D. | Ca(HCO3)2
26 | 1 yellell staill sBotcl ollAstnisll s2u s weudl d2
A. | NaCl B. KCl1
C. | CaCl2 D. | Ca(HCO:3)
Water Containing dissolved salts of chlorides and élllpllatés of calcium and
Magnesium i1s called
A Temporary hard water B. Permanent Hard water
C. Soft water D. Moderate hard
27 2 Wl 2 B(ER12AH A NoA(Sl2AM ol SCURABS WA AUCES o1l 8l Ylald sl
a well sdala
A a@ls sBe well B. | staal s(@=1 wirll
Co | e well D. | gslaa{l et well
Molecular weight of Mg(HCO3), =
A. | 146 B. 95
C. 111 D. 140
28 \ _
Mg(HCO3)> =l AURJAIR =
A. | 146 B. 95
C. 111 D. 140
1 degree clartk = degree french
Al 146 B. 0.1
C. 1.43 D. 0.07
23 1 SN scus = Slofl 5
A. 146 B. 0.1
C. 1.43 D. 0.07




The temperature at which oil begins to give enough vapour which gives momentary
flash of light when a flame is applied to it

AL Flash point

B. Pour point

C Cloud point

D. Viscosity index

B AWHLA Yaldlal e se{l clilsu ool 34l ol WA <2l Gllalcll ollsd =L

30
al@Gls e1ssl 22l A AU Hletal s&clla B
Al assL@g B. | 2cu [@g
C | aen @g D. | Rl s
Lubricant is use to reduce
A Conductivity B. Surfacetension
C. Viscosity D. Friction
31 esal Guallol Yalscal HI2 A B.
A | alescl B | ywaual
C | AU D. | awel
Fire I oint of good lubricant should be
A. High B. low
C. moderate D. too low
32 AURL Yléle] @59 4L [AE ald 8.
Al @;:! B. 0{1;:]’
Co e D. | dgetolly
Which apparatus is used to determine V iscosity of lubricating o0il?
A. | Stalagmometer B: Abbe viscometer
C. | Redwood viscometer D. | Pensky Martin viscometer
33 | | esell Raldtcletl MU M2 5L Aletadl GUALIL WA B?
Al RAsxl@eR B. | A @822
C | ¥sgs @8Mez D 1 Qe wRst @Qeslez
Repeating units of natural rubber is called
A. | Chloroprene B. | Neoprene
C. | ethylene D. | Isoprene
34 || €l ReR sl wdAe{lal AsH uAA B
A sAlRQle B. | @2l
C. | s@Ast Do | il
The general formula of alkenes is
[\ CnH2u+2 B CnquQ
C . Cqun D . CnH2n+3
35 :
UCkelo] AU YA 8.
A CuH2n+3 B. CnH211—2
C . CnH.?.n D . CnH2]1+3
Which of the following is alkene?
A. | CHs-CHs B. | CH2=CHz
C. | CHs D. | CsHs
36 | | ol Retmiel ichlet 20l Ll
A CHs-CHs B. CH:2=CH2
C. CHa4 D. CeHse
‘Which of following is thermosetting polymer
A. | Polyethylene B. PVC
C. Teflon D. Bakelite
37 | | elltet Juell slel dlurend cgues B.

A Qellsellelet

B ULl

C. ] 2sclet

D. | A3cuse




Which of the following is aliphatic compound?

A. | Ethanol B. | Benzene
C. | Benzoic acid D. Phenol
38 | | Sl AAHil RAcEEls uetd 200l olcdtal
A 8AAle B | Qleet
C | QexleSs ARS D. | Al
The Igeneral formula of Alkane is I |
LA. CnH2n+2 B CnH2n~2
C . CuHZu D - CnH2u+3
39 | | 2ucheto] AtHleA YA B,
‘A. CuH2u+l B. CnHzn.Z
C, Cquu D CnH2n+3
Which of the following is used as monomer in the manufacture of PVC
A. | CH3-CHs; B. CH,=CH-C1
C. |CH=CH D. | CH,=CH-CHj3
40 | | oflaustiuiell Slat Ul el Al ol clettaz i 2e0MR 33 auRa d.
A. CH3-CHs3 B. CH>=CH-C1
. | CH=CH D. | CH,=CH-CHs3s
Therlmo plastic polyvmer contains slt111ct{u*e. ]
A Crass linked B. Branched
C. Linear D. Nomne of the above
41 aHlclRs W@AnR olulREL YRl B.
A [ widzoitlla B. | suma
C. |2 D. | 20 @scedl didl As uel 2l
Which of the following is alcohol?
A. | CHsCOOH B. CHsOH
C. | CHs-CHO D. | CHsO CHs
42 1| lastiill 2ucslalet sl
A. | CHsCOOH B. CHsOH
C. | CHs-CHO D. | CHs30O CHs
Plastlics which become soften on heatiugl and 1‘Iigid on cooling without any chemical
change are called
A Thermosets B. Thermoplastics
C. Adhesives D. Elastomers
43 B LAIRR 5L IR M Sl oM 6lal el 65 US Al UL olal SlURL AUUL S
32512 (A= A s&cual.
A dtu e B atuyena
C. | As3Ua D. | scu@ R
Amount of KOH in milligram requires to neutralize one eram of an oil is called
AL Saponification Number B. Emulsification number
C. Acid value D. Nomne of the above
WS UM AAML RECAU YSct AR S de@U sal HIe 33 KOH < AAoauxad
44 aesetal sd&aul.
A Alods2QL s B. | walls2a s
C. | AARAs s D. | 240 @scq diell 31s ul otefl
Grealse is Example of
A Solid lubricant B. Semi-solid lubricant
C. liquid lubricant D. Adhesive
45 oflos ;A Uslell @esc] GELSWU B

A | Uol WSS

B.

WA ol ASS

C. | yaldl s

D.

Aol uelsx




Deterioration of metal due to atimnospheric action is called

A Pitting

COITOS10M.
B. Atmospheric

C. Waterline

D. Crevice

46 AL ARl HURA SIREL Uldell oitel wHale(l (Bauat Rl sdalal.
A&l B | atctarell &g
CowelleQl awdl 02 aqg D. | asul ag
Which of the following is used as monomer in the manufacture of Polyethylene
A. CH3-CHz3z B. CH>=CH>
C. |CH= CH D. | CH»>=CH-CHs;
47 1 | et diell et Welsellcllotell dettaeti Wl iR d33 au B
A. CH;-CHs B. CH}ZCHz
C. CH= CH D. CH>=CH-CHs3
Introduction of in to the natural rubber is called Vulcanization.
A. Sulphur B. Oxygen
C. Nitrogen D. Phosphorous
48 seAl R0l 2ieR el salell ysauadl ack-{ls:al sdaua B.
A LA R B. | a0@sc dlexlcryetet
Co | auuesd D. | 2qQet @scdl wigll As st «tefl
Which of following is used as elastomer?
A Polyethylene B. PVC
C. Buna-S D. Bakelite
49 oLl Higll Slel SAURLHR(RER) 313 duRpA B.
A Acllselellt B Ll
C. | ogeu-RAA D. | a¥cuse
Durilng polymerization no side prodluct is obtained.
A. | Addition B. Condensation
C. Sulphonation D. Nitration
50 % 0gcllsWL yld2al 1206t oUQL AUy Ulict ot a2t Asl sdat
Al LIRA tguesdl B | duetet cguesdl
C. | ucslalatst D. | sueSeatet
Which of the following 1s monomer Teflon
A. | CHsz-CHs B. CH>=CH>
C. | CF>=CF2 D. | CH>=CH-CHs3s
1 - Y N
> o{l2uetl Higl slol 25cloteall HlellHR A3l auRpgA ]
A. | CHsz-CHs B. CH>=CH>
C. | CF=CF: D. | CH>=CH-CH3
The Isubs;auce ilave same molecular fonilula blut dit:fereut stnicrural formula i1s called
A Polvmers B. Monomers
C. Isomers D. None of the above
57 @ UEeLlatl HARIYAL ALt U claurilan A ML AL Sl
A= sdalal.
A Qe B. | qeAmz
Co ] auues D. | 2q 0t @seq will As uel =120
N}'16116.6 is formed by
A Condensation polyvmerization B. Addition polymerization
C. Vulcanization D. Cyclization
53 GlRL ell2AClet $.S Oloilalall Ml A1 B

A | Adetet clgue sl

B. | el cgyesd

C. | ackusdela

D. | usls:ual




The substance ionize 100 %6 in to the solution is called

A Weak electrolyte B. Strong electrolyte
. Medium electrolyte i b 18 None of the above
% UElde] aldRQHl 100% u2e{lsQL a2 A sdala B.
A AAn @Qyd@eusat B. | yon @Qyd@eusa
Co | e @Qya@eus2 D. | 20 @seql Hiell :As el =2l
pH of aqueous solution having concentration of 0.001M H3O+ . is

A. 3 B. 7

C. 14 D. 1

0.001M H30+ ofl diacl uRtadl wclla aiae-ll pa &

A |3 B. 7

C. 14 D. 1

- T reaction occurs at anode in clelct_rochlc‘::;]ical cell.

A Reduction B. Hydrolysis

C. Nitration D. Oxidation

[Qyd RRU2As sl A-dls ya Gur ylsau ena &

s s2tet B. | aiessli@xla

Which of the following hydrocarbon is saturated

A CH:-CH3 B. CH>=CH>

C. CH=CH D. CH>=CH>)-CHj;
o{l21e1 1iell sl At slBglsicl sdala 8.

A CH:-CH3 B. CH>=CH>

C. CH=CH D. CH>=CH>)-CHj3;
E.M.F of Zn / Zn "~ electrode is V.

A, 034 B. |0.45

C. | 0.67 D. |0.76

Zn/Zn*? [AYd yasll E. M. F. V.

A 034 B. |045

C. |0.67 D. |0.76

Graphite is type of lubricant

A. | Solid lubricant B Semi-solid lubricant
C. | liquid lubricant D. Synthetic lubricant
JAsiese yYsiell 15 8.

A | gyot 2085 B | wtlus \es

C | yaudl Ass D. | uiza@s Ass
Polymers containing the same type of monomeric units are called
A. | Homopolymer B. Copolymer

C. Elastomers D. Adhesives

A s WL Hl=AlHR ASH URld Al sigusal 58 8.

A sbalelluz B. | sl-dlelluz

C | sareluz D. [asédla

Ratel of corrosion depend heavily on the I ]

AL Wind Velocity B. Viscosity

C. Surfacetension D. Moisture
auRel-ll € Guz ulAAw puUwR AW B

A uastell 354 B. | Roucu

C. | ywawal D. |«




Terylene is used as

A Plastics B. Synthetic fibres
C. Elastomers 1B Adhesive
62 23l A3 aurla B,
A weurdls B. | uizAafls 2
C | saRRMR (RO1R) D | 2ol uerx
The hybridization in which one s and two p orbitals take part 1s called
A. | sp hybnidization B. sp° hybridization
C. | sp” hybridization D. | None of the above
63 [ | & 2s20Ml W5 s wal 6 p a5l ol A A« sdallal 8.
A. |sp B. sp°
. ] .
C. |sp’ D. | wda @scal uiell As ue <120
What 1s the bond angle between the hybrid orbitals in Methane?
A. [180° B. [120°
C. [109.5° D. |360°
64 RAAnl 23c(l s sasl a2 Al ciuedl yel weudl.
A |180° B. |120°
C. [109.5° D. |360°
— —
The substance used to stick two different surfaces firmly are called
AL Plastics B. Synthetic fibres
C. Elastomers D. Adhesive
65 A g el-arel ULl Har ol Fla AUlL2isal HI2 cdURLcl WELE=L 58 6.
A wenréls B. 2
C. | scuzeliR (ReR) D. | ol usis
Z-Pelntenone & 3-Pentenone are the exzulnple olf
A Metamerism B. Chain 1somerism
C. Position isomerism D. Functional isomerism
66 | | «(1A=uniell 2-V2alled W 3-Uoeeallat sloil GELSREL B
A Reflsu B. | ojucu aMuesdl
Co | euet auuesdl D. | ays uuuesdl
Aldehyde consist which of the functional grou
A. | -OH B. |-O-
C. | -CO- D. |-CHO
67 .
o{lA-uuiell sl [@Ascu wRsless uys £20d 8.
A. | -OH B. |-O-
Cc. | -CO- D. |-CHO
The general formula of alkyne is
.A - C‘nH: n-2 B . C‘nH: n-2
C. C‘nHln D. C‘nI'I2 n+3
68 ;
BUCHISeto] AMLIA YA 8.
A. CnH2n+2 B. CoH2402
C . C‘nH:n D - C‘ ]:LI_I2 n+3
Sodium silicate 1s example of
AL Adhesive B. Elastomers
. Thermoplastic B Thermosetting Plastic
69 || WBau RAS2 -1 Gelsel 8.
Al uerd B. | scizelur (RuR)
C. | enltcuréls s

AHRZL wiRéls




Which rubber formed by Co-polymerisation of butadiene and styrene

Al Buna-S B. Buna-N
C. Neoprene D. Isoprene
70 sjelstgfel wel elaletall deralmseell s ysized 62 oal 8.
A | ot B | o2geti-alat
C | 2Rt Do augadla
The chemical bond formed by transfer of electrons is called
AL hydrogen bond B. Covalent bond
C. metallic bond D. 1onic bond
71 | SasZicl ARRA 29121 steddl 24 @s sk 5GAL,
A, LSy olH B.  sddisys oA
C.  alasoE D.  suailas o4
Which of the following contains Intermolecular Hydrogen bonding?
A.  o- Chlorophenol B. p-Chlorophenol
C. Ch D. NaCl
72 “ iof) Zim BudsvblRn qisilicyd siti Ha1E &
Al Rzl st 2adzBuRAs S gler oHd Hud £9?
A osdiEl il B.  p-sciidl eia
C. Ch D. NaCl
Which of the following is the example of non-polar covalent bond?
A. HF B. NH3
C. HC D. Cb
[N I B ETRT) Al UeAlsrs olH GalsoL LAl
A. HF B. NHs3
C. HC D. Clh
Aluminium contains ......... structure.
AL BCC B. FCC
C. HCP D. Simple cubic
74 | Sieppildlam ........ 1L 921 59,
AL BCC B. FCC
C. HCP D. HIEL Yol
Graphite is an example of ......... type of solids.
A. lonic B. Network
C. Molecular D. Metallic
S 5152 9. U512 AA D,
Ao wudilas B.  moileiz
C.  wuafan D.  sulas
Which catalyst is used for the manufacture of ammonia?
A. Fe B. Ni
C. Mo D. Pt
76 | spalifea-u Geie- uiz 2l BElus AU £9?
AL Fe B. Ni
C. Mo D. Pt
In the manufacture of H2SO4 in contact process, As203 acts as
A. Negative catalyst Promoter
C.  Catalytic poison auto-catalyst
77 oS ) e et o
H>S0; <l otttz vzl Hus[AMAHi As,05 A<ls 519 52 £9.
A zeeLGRlus B.  GZlus -Gusys
C.  Gelus[an D. i Gilus
N2 molecule POSSESSES ..ooon... covalent bonds. )
AL 1 B. 2
C. 3 D. 4
781 N U e AEHALT S S 21T 29,
AL 1 2

B.
C. 3 D. 4




1F = Columb
A 96500 B. 95600
C. 96600 D. 95500
R 52E = e 5EOL
AL 96500 B. 95600
C 96600 D. 95500
The process of formation of positive and negative ions in aqueous solution is
called.........
A Decomposition B. Dissociation
80 C. Tonization D. None of these
Syl CLABIHIE Het AL AL 2811 2UAA oAAALAL (AL e 56 89
Al [Auzq B.  [Axisy-
C.  wua-lsza D.  wunisl ois we 4dl
Ky =eoeeneenn ) ’
A,  1.0X 10" M? B. 1.0X 10" Mm?
C. 1.0X 10" M? D. 1.0X 107 M?
81 _
Kw=inns
A, 1.0X 10" M? B. 1.0X 10" M?
C. 1.0 X 107 Mm? D. 1.0 X 107 M?
If [H3O™] < [OH]. then the solution is ......... in nature.
A Acidic B. Basic
C. Neutral D. None of these
82 541 [H30'] < [OH], Al glAlldl 2431 ........ S
A wilzles B oi[Rs
C.  Azza D.  sunisl »is weL 4l
pH=..........
A. -log [OH] B. -log[H3;O" + OH7]
C. - log [H:07] D. None of these
83 _
pH=..........
A. -log [OH] B. -log[H;0" + OH]
C. -log[Hs:0"] D.  wuuidl 2is we «dl
Wax block are used for
A.  Electro plating B. Electro refining
C. Metal extraction D. Electro typing
84 | alplel o4l ... HIZ QUL D
A daszialza B.  tud ulHswm
C. - [arsia D.  daszizidhia
What is the pH of Neutral solution?
A. 0 B. 1
C. 7 D. 14
85 Azz4 glaRl-l pH 5241?
A. 0 B. 1
C. 7 D. 14
What is the pH of 0.01M HCI solution?
A. 0.01 B. 0.1
C. 1 D. 2
86 ;
0.01M HCI L glaBL «{l pH........
A 0.01 B. 0.1
C. 1 D. 2
Buffer solution is the solution whose pH...........
A. Remain same B. Increase
C. Decrease D. All of the above
87 | o152z claml 3 Bid ¢l 95 64+l pH.....
AL HHIA G B. 4f
C. ez D.  Guz AL otHL




The electrode potential of standard hydrogen electrode is .......

A, 0V B. 1.0V
C. 1oV D. 100 V
88 | wuinod 1S iiss g A TEFaAe .. 14 D,
A. 0V B. OV
C. 10V D. 100 V
In an electrochemical cell energy is converted into energy.
AL Chemical, Electrical B. Electrical, Mechanical
C. Electrical, Chemical D. Mechanical, Electrical
89 | [ArAziuls stvmi, . UISAA e ULSAHL 3ULAR 214 9.
Al s, [AgAd B, [A3A, #ils
C.  [EB3A, zles D.  xilas, (AA
Which of following is correct for standard conditions?
Which of following is correct for standard conditions?
A. 1 atmospheric pressure B. 25°C temperature
C. Solution of 1 M concentration D. A., B.and C. all
0 | EmiE] wuiBid 224l wiz i w19 92
Al 1 AlALAZEL 260 B.  25°C diuHiq
C. 1M Higdlal glae D. A, B. 24 C. 54l
If zinc is coated on base metal surface is called
A. Buffering B. Tinning
C. Inhibitors D. Galvanizing
1| yon s staial HiZ Al Gu syl 20id us Az 1aa-l ulpua sEAA
A, ozlEa B. 2G4
C.  [auasl D.  Jeq-ussdlon
Corrosion is a process of
A.  Oxidation B.  Reduction
C. Electrolysis D. Ozonolysis
22 | mzaLH Al ulu 2.
S IESREE B.  dlssa4
C.  [a44 [A™usy« D.  au2idielailx
The corrosion will be rapid when
A. pH<7 B. pH=7
C. pH>7 D. None
3 LRI AUl 211 €9 e
A, pH<7 B. pH=7
C. pH>7 D. s e «ls
In pitting corrosion, area of cathode is very large as cz)mpared to area of anode, So rate
of corrosion is
A. moderate B. slow
94 C. fast D. none of these
Ul29L HIZPIHELSALEA AASOL DLALS 52AL AU SALEL A0 AL 22 HERIN
Al UHIRIMR B. Al
C. D.  sidupl g
Which method is used to protect the small things like screw, nut, bolt and nails from
corrosion?
AL Sherardising B. Tinning
95 C Me_tal claddin_g R D. Metal spraying
g, 12, sliez, vileloil sydl Al azasiia suzeel ceznaal s© wesla auz 92
AL gilzasEra B. Zl-iloL
C. =uqsalia D.  =ud 92519
This is not a factor affecting corrosion -
AL Nature of film B. Nature of solvent
C. pH of solution D. Moisture
% | .. AURBL YR A2 524 wlzerm a2l

clas il usla

AL qiudl AL uslz
C H oy

glae Al pH

ow




Destruction or decay of metal by chemical or electrochemical reaction is known as
AL Oxidation B. Reduction
97 C. Redox D. Corrosion
2lins aan [Faqazzmeilis wizael A e gl B . séan
A wlifssaq B.  [Rssuq
C.  zaa D.  auzm
As impurity of metal increases, the rate of corrosion
A. Increases B. decreases
C. remains constant D. None of above
98 | 6yH Ml HI 29[ AHL £ A AL 22 9.
A 9y B.  az
C.  wyu ¢ D.  sidue ls
1 ppm = ———e—- Degree French. ’
A 0.07 B. 7
99 C. 0.01 D. 0.1
1 ppm = - Q.Cu.rl%%
AL 0.07 B. 7
C. 0.01 D. 0.1
Temporary hardness in water is caused by
A. KCl1 B. NacCl
C. MgCla D. None of the above
100 | 3 misil sURL 2L 5[5aAL Sl 23210 21 97
AL KClI B. NaCl
C.  MgCh D.  siSwm dl
——————— Indicator is used in water hardness measurement.
AL Phenolphthalein B. EDTA
C. Erio chrome Black- T D. Methyl Orange
101 WLELAL S[E AL HIMAL HIEZ ----- UAUS AU 9.
AL [Z-licz@aq B EDTA
C. &wilsineds- T D. 20154, 210207
Which of the following buffer solution is used in water hardness measurement?
A. NH4Cl + NH4OH B. CH3COOH + CH3COONa
102 C. NaOH + HCI D. None of the above
ULBELLAL S[E Al Hras |z 2 TSL S 6152 LRl Al GUALL AL €9,
A. NH4Cl + NH4OH B. CH3COOH + CH3COONa
C. NaOH + HClI D. None of the above
lppm=___  mg/liter
AL 1 B. 10
103 | C. 100 D. 1000
1 ppm = (Rel/ @z
AL 1 B. 10
& 100 D. 1000
Which compound causes caustic embrittlement?
Al HCl1 B. H20
104 C. NaCl D. NaOH
AL 2Ly <L dlf 51225 Srellzadez 21n 97
Al HCl1 B. H-O
C. NacCl D. NaOH
Acidic resins and basic resins are used in ......... method to make hard water soft.
A.  Permutit B. lon exchange
C.  Chlorination D. Soda lime
1051 v wiell A 4z ot Aatiel ......... weARML DL 19 515 2l quz14 D,
A yRllz B. w4 [Alany
C.  seilda D, yuadio




Molecular weight of CaClzis ...........gm/mol
A 120 B. 95
C. Il D. 100
106 oo - =
CaClz <l UUMIZ....... 9.
A 120 B. 95
C. Il D. 100
Water which does not produce good lather with soap readily but produce curdy
Precipitates is termed as
A Hard water B. Soft water
107 C. Acid water D. Basic water .
oy WLl oL AU AZA 5 A1zl SLEL G, 52l 42l udd sl sral iU Geded, 52 d el
AL gl el B.  Azu el
C. il el D.  oiofls wweil
The process of wet steam formation due to rapid boilingqof water in boiler is known as
AL Scaling B. Sludge formation
C. Priming D. Foaming
108 | oiishetzar uiel 25 susdl Gl 21m eiledl Az Getleed 21 ATL 2 5EALA 2
AL 91El el B.  294& Geued ug
C.  wsyur oy opadl D.  sletGevea ad
......... compounds burn with sooty flame. o
A.  Metallic B. Aromatic
C. Aliphatic D. Ionic
109 [ ... 2hisy AL BHisAsil srdlagl s .
A, mileas B.  wiulzs
C.  wilasles D.  mifas
Carbon of methane molecule has ......... hybridization.
A.  sp B. sp’
110 C. sp’ D. sp*
(M4 UL 264 5154 e, X520 1219 9.
A.  sp B. sp’
C. sp> D. sp*
Regarcfing strength, c-bond ......... m-bond. i
AL > B. =
C. < D. >
11| ssoidnsSa sidasla, o-sid ... T -o{H.
A = B. =
C. < D. =
The general formula of Alkynes is
A. CnHln—E B CnHEH
C. CnHon+2 D. CnHzn+a
121 wpesisq A AR YA e 89
A CnHZn—l B. CnHBn
C. CnHon+2 D. CnHo2n+4
......... show aldehyde group
A. -OH B. -CHO
C. -COOH D. -COOR
s sEdlelds UHG 2U1A 9
A. -OH B. -CHO
C. -COOH D. -COOR
Name of CHy is.........
AL Butane B. Propane
C. Ethane D. Methane
A1 oy ... ®
AL oyzq B. w4
C. el D. (A2
Which of the following is alcohol?
A. CHsOH B. CH;-CHO
C. CH>COOH D. CHs O CHs
15 1 facussdl »ussicia sl
A. CHsOH B. CH3-CHO
C. CH3COOH D. CHs O CHs




What is the bond angle between the hybrid orbitals in Methane?
A 360° B. 120°
C. 109.5° D. 180°
116 | msiani 2iell 2isz sai5L 423 224 oia-il VLELL S RLLAL
AL 360° B. 120°
C. 109.5° D. 180°
Organic compounds having ......... molecular formula but ......... structural formula are
called isomers of each other.
A. same, same B. same, different
117 C. different, same D. different, different
......... DUAYA DAl e GEUZBA A H2AAAL 5164 (A5 US1ALA 2456 AL AHA25L 56 89,
Al HULA, HHLA B, nuuq, syel-spel
C.  oycl-syel, U4l D.  syel-syzl, synl-syel
Benzene is a/an ............. compound. ) - ) )
A.  Aromatic B. Heterocyclic
C. Aliphatic D. Acyclic
118 | Gietoild ........ 4E1£L 9,
Al BHEls B, [Aun xgly
C.  widlséls D.  sidlzuasdls
The tempe}ature at which when a flame is kept near to the vapour of fuel and it is burnt
continuously then it is called ......... of that fuel.
A. Pour point B. Flash point
C. Cloud point D. Fire point
19 | & arusd uandl zaasl sivy iz spdid dladl slby U000l Add A1l 52 ded 2dasd
T4 1
A A lbig B. e (eig
C.  aulbig D. 2o [sig
The number of milligrams of KOH required to make ;.oap from 1 gm of oil is called
A.  Saponification number B. Lubrication
120 | €. Emulsification number D. Distillation
1 i AgHEl 216y suaal Hiz orZl KOH <L [C[ManiuA ... 56 9.
A ol wis B.  2dugq
C. qdlsze wis D.  [azde
The temperatu}c at which the liquid can no longer flow is called .........
A.  Pour point B. Flash point
C. Cloud point D. Fire point
1211 & arusina Al 2eie sl 26l el 2125) M4 AR 20465 o, 56 9,
A, e big B. s by
C. Y [’3155 D. 12 [7;1?5
Greasgis E;ample of -
A.  Adhesive B. liquid lubricant
C. Semi-solid lubricant D. Solid lubricant
1221 oflos US1RAL 2els s, GELE2BL 9,
Al Halluna B. Al z-lus
C.  »HuUA 2dus D.  adzdes
Lubricant is use to reduce
A. Surface tension B. Friction
C. Conductivity D. Viscosity
123 | zdasdi Guiio CERCIEEDIDELS
AL YBALEL B. SLI
C. algsdl D.  [Z428dL




Fire point of good lubricant should be

A. High B.  moderate
C. low D. too low
124 1 sz 2dss 200100 Gl A,
A GiE B.  wHemz
C.  d D. Agd -l
Emulsification number of ideal lubricant is............ -
A. 0 B. 10
C. 50 D. 100
1251 syed 2Aas AL WIHALS20L 2AS ..., GIA
A, 0 B. 10
C. 50 D. 100
The mixture of oil and water is called.........
A.  Surface tension B. Demulsion
C.  Viscosity D. Emulsion
126 | el v dadl BanA ..., 58 9.
A ypdal B.  [quazilsze
C.  [awmal D. wilsze
The mixture of oil and water is called.........
AL Surface tension B. Demulsion
C. Viscosity D. Emulsion
1271 wiell st dddl BapA ..., 5¢ 9.
Al yrdlRl B, [Aumzilszo
C. Rl D, wzilsza
Polymers containing the same type of monomer units are called
A. Copolymer B.  Homopolymer
C. Adhesive D. Elastomers
128 | Bls UTVAL HIAIH2 2A5H H2UAAL 425 56 49,
A siudlwz B.  diHiuiElnz
C.  wiseHla D.  daizzimz
Which of following is thermosetting polymer
A. Polyethylene B. PVC
C. Teflon D. Bakelite
129 1 {lapetr ssfl 5o druzanfid stgHzse,
Ao qidldeldl B.  jlL(a.=dl
C.  Zzdid D.  osisquse
The mo‘nomer of P.V.C. is..........
A.  Vinyl chloride B. Vinyl cyanide
C. Ethene D. Styrene
130 [ pv.CcAdisisislony ... .
Al [AdeE sl B.  [A15z wiadiss
C. el D. 2218544
Hexamethylene diamine and adipic acid are the monomers of .........
A. Polypropylene B. Bakelite
C. Terylene D. Nylon-6,6
BI GandlBiela siSoimnsd sid sidls sizdls ... AL 2515 2091 9,
A gidludldla B.  oisa1dz

C.  Zdla D. qadid-6.6




Which type of polymer is -A-A-A-A-A-A-A- ?

A. Linear polymer B. Branched polymer
C.  Cross-linked polymer D. None of these
132 [ _A-A-A-A-A-A-A- 324 USIRAL olgH2S 92
A Hisn elgazs B, avily siguzs
C. uidzeitld suguzs D. sl 245 wi dl
......... is a co-polymer. '
A. Polyethylene B. Nylon
C. Polypropylene D. P.V.C
1331 . B, w5 UE-0LGH2S 59,
Ao qdldeldla B.  qudid
C. il D. P.V.C
The monomer of natural rubberis .........
A. Benzene B.  Chloroprene
C. Isoprene D. Styrene
134 serdl 20l Bisisl 20 ........ 9.
A, oiqdld B.  sqizuild
C.  udunild D.  z215lq
For the manufacture of tyres of vehicles ......... is used.
A. Neoprene rubber B.  Natural rubber
C. Buna-N D. Buna-S
1351 quaediel 2142 sl sl iz ... AYRIA 9.
Ao Al 242 B.  seadlasz
C.  odl-N D.  ofdl-S
What is used for vulcanization of rubber i
A.  Sulphur B.  Phosphorous
C. Oxygen D.  Sodium
136 1 2642 il AC5ASHaA Uz 9 AU D).
A ues B.  slzs
C. oulsusy< D.  wuidlan
Which of following is used as Elastomer?
A. Polyethylene B. PVC
C. Buna-S D. Bakelite
137 | Al widl sto Saizeing 4<ls auzi 9.
A qdlsyldlq B.  fldladl
C.  odl-S D. ssausz
Sodiur: silicate is example of
A. Elastomers B.  Thermoplastic
C. Thermosetting Plastic D.  Adhesive
138 | ofifiay Ralesz A GelezelL 9,
A darsiuz B.  ayiezils
C. gyl wezdls D. (v
is used for Book branding
A. Casein glue B.  Blood albumin glue
C. Animal glue D.  Vegetable glue
139 [ o5 sushen (ol Wiz .. Bluddion i €9
A, sl iz B, 2s5d wpeoyHld oz
C.  wwilsy ve2 D, qqzufasy-y diez




Which chemical used to binding two surfaces?

A. Adhesive B. Insulator
C. Refractory D.  Lubricant
140 | of HULZloAlA sxLsAl HIZ 540 YA AU 89,
Ao ol und B.  »auus
C. szl D.  (Goys
141
142
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